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3 multikinetic AFT only

True kinetics
No constraints

1000
Time (Ma)

3 AFT + 3 AHe
All true kinetics
No constraints

1000
Time (Ma)

Monokinetic AFT
Average kinetics
No constraints

1000
Time (Ma)

3 multikinetic AFT only

True kinetics
1 constraint

1000
Time (Ma)

3 AFT + 3 AHe
All true kinetics
2 constraints

1000
Time (Ma)

Monokinetic AFT
Average kinetics
2 constraints

1000
Time (Ma)

3 multikinetic AFT only

True kinetics
2 constraints

1000
Time (Ma)

3 AFT + 3 AHe
AHer . =0.83

2 constraints

1000
Time (Ma)

Monokinetic AFT + 3 AHe

AHer =0.83

mr0 .
2 constraints

1000
Time (Ma)




